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101|R#A7 L 1,016 53 963| Kg |[fEB 2,160 216| 5 3,240 486
102|357 L 2,061 2,061 Kg BIE 1,593 555
111|&EEF £ 1,082 1,082| Kg g 2,106 378
113|RAV S 56 36 20| Kg |B®H 1,080 EH 1,620 1,188
114|B5EFE 157 157| Kg e 2,970 2,000
15[ 1= 1 1 Kg FfE 1,296

117[1E 783 298 485 Kg |EE 1,296 11|&E 4,104 432
121|hbixE 12 7 5| Kg |EE 1,188 163|ffE 864

134[#= = 360 98 262| Kg |EE 2,200 1,100| & 2,808 1,188
137|&5E.3. < 5 5 Kg |BE 540

140(5 I 14 14| Kg e[AEs 30,240 22,500
147|EZ O 83 83| Kg RI% - K9 12,000 5,500
158|EIEA A LS 347 347|  Kg =il 2,592 648
201{Lvb L 847 847| Kg il - FIE 1,350 126
203|/hd L 44 44 Kg 1R 405 162
205|3.3 L 286 2 284| Kg |EE 369 Be 648 216
206| = 1F 259 259 Kg FE 864 108
207|= A K 274 274|  Kg imE 2,700 540
208| Mo % 350 350| Kg X 2,376 590
2094 B & L 818 818| Kg EH 821 432
210|1F ALy 308 276 32| Kg |RI% 5,940 2,295| £ ik 4,050 2,376
212|&5E.3Y 90 90| Kg = 3,078 1,944
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254|ED12ELCA 766 46 7201 Kg |FE 1,623 FEE 3,186 1,166
3031 A 7Ly 46 20 26| Kg |&H 605 463|12 900 672
306|Le &Y 36 2 34 Kg |EE 270 I 1,188 1,080
315|7: b5 6 80 45 35| Kg |24 2,484 2,160|= & 4,320 2,484
3191 h o 98 a7 51| Kg [&&E 1,836 1,296 &)= 2,160 1,512
3321 WA =EF 219 2191 Kg i 1,836 1,512
3BlHHY 25 5 20 Kg [%E 3,240 FEE 4,320 3,240
3541 <Y 38 38 Kg Z, 2,430 1,404
3/5|HEY) 88 88 Kg A - PE 1,512 600
356|L LA 79 79| Kg SHR 1,512 972
3577/~ E 3 3] Kg e 10,800 10,260
358| KE 15 15| Kg A0 3,996 1,944
362(m & 6 6] Kg FE 1,620

401|H W 93 14 791 Kg |K&» 540 486 |l B 2,052 1,620
4025 E 30 30 Kg FAN 6,426 4,968
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A—uhh 20 201 Kg 2P 1,080 1,058
AN 20 201 Kg i 1,550 1,450
AERAT AT 657 657 Kg 2P 2,280 1,283
ARTEZL 42 421 Kg E2p] 1,728 1,560
JE WA AE 20 201 Kg Bl = 1,550 1,450
iy} 40 40| Kg i 1,296 1,026
Jarys: e 209 209 Kg 2P 2,650 800
B 25 25| Kg i 4,590 4,000
BRI 150 150] Kg Bl = 1,180
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70110 BA 80 20 60| Kg |EE 4,104 s 2,430 1,620
705|7=2< ¥ 71 71 Kg Ko 1,188
710(2 2 AT 30 301 Kg =4 945 864
BlEFAI L 28 28 Kg SR 1,350 1,008
755|FH&» C 33 331 Kg EE 783 637
T56(FNET 5 5 Kg Ri& 1,500
76l|b Y AEE 6 6 Kg FO&rL 3,420
B01[IBAL = 1S 256 256 Kg ¥ -mA 1,674 1,296
802|1 x| 60 60| Kg gl 1,814 1,404
8051 1E 600 600| Kg JbiF 1,145 691
810|FAKF 349 3491 Kg bF 2,376 1,566
8lh|—W T AX 265 265 Kg blo ] 1,584 936
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